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VARONES
1X Cadete “B” q 12 6
2X Cadete "B 12 6 Botes largos 4-, 4X, 4X+
4X Cadete “B” 8 15 5 10 15
1X Cadete “A” 12 6 4 2° 08
30 05
2X Cadete “A” 12 6 4 40 03
4X Cadete “A” 15 5 8 Botes Cortos 1x, 2x, 2-
2X Cadete “B” Novicio 4 12 6 ;z éé
4X+ Yola Novicio Libre 15 5 30 04
4X+ Yola Novicio Cadete Juvenil 15 8 40 02
DAMAS
1X Cadete “B” 12 6 4
2X Cadete “B” 12
4X Cadete “B” 15 5 8
1X Cadete “A” , ,
2X Cadete “A” q 12 6
4X Cadete “A” 12 6
2X Cadete “B” Novicia 6 12
4X+ Yola Novicia Cadete Juvenil 8 5 15

138 130 67 4



